TMA M203 08 Cut-off date 26 September 1996
(Revision Assignment)

Your attention is deawn to Section 746 of the Student Hoandbood, which rewds as
follows: “A TAA with a eub-off date before T Oelaler will not Be macked, i sy
circumstances, of of o saboetded doter than [ Octaber,

Chuestion 1 10 marks

Let § = §{0,2,1),{1,1,1} (3, =1,1)} be & set of three vectors in B and let
T={ley.20eR: c+y-22=0}

You may assume that T s a subspace of B

{a) Show that 5 iz a linearly dependent set, but that (0,2, 1),(1. 1, 1)} i5 a linearly
ilependent sed,

(b) Prove that {(0,2,1),(1.1,1)} 8 a basis for T".

ic] Henee or otherwise show that < 5 > =T

Cruestion 2 10 mparks

This question concerns the linear transformation f; B — B which is
represented by the matrix

W
“‘“(1 Jl)

with respect to the standard bases in the domain aoad codomain;
{#) Fimd the transition matrix, P, from the basis
X o= L (=2 L0 (3.1, 20)
tes thee standard basis for B

Henee find the matrix of f with cespect o the basis X o the domain and the
standard basis in the codonain.

(b)Y Find the transition matrix, Q, from the basis
¥={{34),(1L3}
to the standard basis for B

Henes find the matvix of [ with respect 1o the standard basiz in the domain
and the basis ¥ in the codomin,

(o) Dl the vesules of parts (a) and (B to find the mateiz of Fwith respect to the
bawis X in the domain aond the basis ¥om the codomnan.
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